PRESENT INDICATIVE ACTIVE & PASSIVE

7/18/2014 to form the present stem remove the -re from the 2nd principle part
1st: -6, -are, -avi, -us 2nd: -0, -ére, -1, -us 3rd: -0, -ere, various 4rd: -6, -re, -, -us
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Active stem = remove 1from 3 pp Passive stem = remove -us from 4th pp
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PRESENT SUBJUNCTIVE ACTIVE & PASSIVE

to form the present stem remove "-xre" from the 2nd principle part

1st: -6, -are, -1, -us 2nd: -0, -ére, -1, -us 3rd: -0, -ere, 1, -us 4th: -0, -re, 1, -us
Active Passive Active Passive Active Passive Active  Passive
laud mon mitt aud
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Active and Passive add the personal ending to the 2 pp
laudare monére mittere audire
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PERFECT SUBJUNCTIVE ACTIVE & PASSIVE
Passive = 4th pp with correct form of sim no other endings
laudav laudat monu monit mis miss audiv audit
eri m eri m eri m eri m
ert S ert S ert s eri s
5 eri t sim + us, eri t sim + eri t  sim+us, eri t sim+us,
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Passive = 4th pp with correct form of essem no other endings
laudav laudat monu monit mis miss audiv audit
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qq:, L us, a,um L us, a,um L us, a,um L a,um
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o issé tis issé tis issé tis issé tis
isse nt isse nt isse nt isse nt
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IRREGULAR Indicative VERBS

IRREGULAR Subjunctive VERBS

sum, esse, fut, futirus sum, esse, fur, futdrus
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